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(i) 3R 1§ Fofigan vk | wfies I Lo B, o 5@ we@ I wET Som, qaft e ged § ¥ e I
wel Bl R, Rt ot 39 5o % fore swdwigen & 35 e @ gve R smom |

(iti) afg I=figam g g w9 w0 4 e S B, stulq sefiean g 3o 9@ B 9 2, A 99 e &
Teru =g que 7 fan smom |
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Note : English version of the instructions is printed on the back cover of this Booklet,.
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o9 (1729 + 1929 1 18 & Fawife fen s 2, |4,
A1 SRS W 3T R 2
(a) 6
(h) 2
{ul] 1
idy 0
n T 98 a9 == 99 ¥4 & e S e wn |5
TR 100§ fawfoe & s
25,33 48 53 BT x TE x 812 x 0% x
108 » 1512 3 2014 % 9211 3 2515 9
(a} 65
(b) 55
(c) 50
&
S\
(d) 45 &
&
N\ 6.
&A1 479865AB ﬁ@gﬁl (A By Ewe § 1fg
de 9 g fawrsy & o 92 fom gan 2 6
T w1 i o faan 2 2
(a}) &
ib) 6
icdy 9
d) 11
(2-A)

WHeE  Hed  Ygld # AR
999xabc=deﬂ32ﬂﬁ'ﬁm?ﬁﬁ'l{, E!ﬁa_ b, e,
d,e3MFIAFEE| a b e d e dATLf HHA
FHILF R 2

ia) 6,6,8,6,8 7
(b} B,6,8,6,7, 8
ic) 6,887,886

(d) 8,6,8,8,6,7

= misam A, B 3R ¢ mH wm-fag @ e
5p.m.,ﬁp.m.3ﬂ?2?p.m.q{ﬂﬁ:ﬂmm
£ 3 HUW: 60 kni/hr) 80 km/hr 31 x km/hr
i TEEE fa ® Uh A faen # awn e #
afg amn H.arH @ F5 vk s Em-fEs W
us |y faedl &, a9 x % A w27

(ad 120
by 110
(c) 105
(d) 100

fomm it amg = ad weet 1 ® firg el quis
&1 o9 (Fga) off ofit 3R ad =g fedl Qo
ol & | 38 ol 8 d% Seaw AT SR a1l
IRl 3y qeadt a9 # fell den = e e
Iadt a9 # Rt mem oW == (FgE) =1
El

(a) 799

(b) 1299

() 149

(d) 2199
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What is the remainder when (17%7 + 19%%) ig

divided by 18 ?
{a) 6
{thy 2
e} 1

dy 0

What is the largest value of n such that 10"
divides the product
29 % 8% x 4% % 5% x 67 x 76 x 812 x 99 x

108 % 1512 x 2014 « 2211 2515 7
tal 65
thy 55

ted 50
&
@

Q\@»
How many pairs &)h are possible in the
number 479865AB if the number is divisible
by 9 and it is given that the last digit of the
number is odd ?

(dy 45

(a) 5

th) 6

e} 9

(dr 11

4,

(3-A)

Consider the multiplication 999 x abe = def132
in decimal notation, where a, b, ¢, d, e and
are digits. What are the values of a, b, ¢, d, e

and f respectively ?
(a) 6,6,8,6,87
(h) 8,6,8,6,7,8
e} 6,8,8,7,8,6

(d) 8,6,8,8,67

Three cars A, B and © started from a point at
5 pm.,, 6 pm. and 7 p.m. respectively and
speeds of 60 km/hr,
80 km/hr and x kmvhr respectively in the same

travelled at  uniform
direction/If all the three met at another point
db the same instant during their journey, then

whatis the value of x 7

tal 120
(b} 110
(e} 105
(d) 100

Priya's age was cube of an integral number
(different from 1) four years ago and square of
an integral number after four years. How long
should she wait so that her age becomes
square of a number in the previous year and

cube of a number in the next year ?
{a) 7 years

(b) 12 years

{e} 14 years

{d) - 21 years

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

frfafiga 4 & = Fa= gt 77 2 2

2 § € 9 ANTST B H Al 2 g
faar=m 2

ia)

10.

s BEEE § ufd w0 e § 200 #ogfg
%1 7 B | A oEEm ¥ we A e 0
20% <t gfg $ I & AR TEAEE TeF WO

(b) &1 fir quishi m, n 37T UH TSI TEA p el B, 99 kv FEA H FA gEgA § A

%%ﬁ{,ﬁﬁpﬂ“ﬁcﬁﬁmxnﬂﬁﬁﬂliﬁﬁ fera aeemE o

U1 2, @@ p TN Al m F AT n F L

Fl 2 | (a) 30%
(¢) M TH T 6n-1% T4 R (n T (b) 40%

YA HEA &), q9 U8 Uh AN wE

2 (€) 44%
(d) o s9Ta HEAral w1 hde U @ U (d) 48%

e & fomd @ Feeadi sy

HEIEA] H 2 e R | 11, THT 3i Fu1 vErd 2 S s A e § ged
x> 0% R, x+ X2 o = am w2 2 # | foamerm o % foe <1 & awfea = wm

= #dl & |7 A T 8 kavhe 8 Sl BET

(a) 1 TR 10 kia/hr | e gge % for B e
(b) 2 H 9 fire = ot 8 | T o 3w % gens @

1
9
2

() Traffa 38 e sn o= \\§
&
1+px (1 X
‘qﬁ 1- Ex\ll+gx 1%(& %Wﬁ
@$

11'2P_q,2p#q
pV a

1
iﬁdp—q,p#q

(c)

FTE 7

(a) =

(b}
{c)

it g\lp_q sP¥+q

d) =+ %1|'2p—q .2p=#q

12,

feremer feren gz 2 2
{a} 5Hkm
(b) 55km
(e} 6km

(d} 6:5km

wemsi w1 F=fafas § @ wh gw, sdfe
32,3 X J0WEA B ?

(a} 0,2
(b) 0,-2
(@ 1,-1

DFGT-T-HTM
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7. Which of the following statements is no#|10-
true ?
{a) The difference of two prime numbers,
both greater than 2, is divisible by 2.
(b)  For two different integers m, n and a
prime number p, if p divides the product
m x n, then p divides either m or n.
ic) If a number is of the form 6n-1
(n being a natural number), then it is a
prime number,
id) There iz only one set of three prime
numbers such that there iz a gap of 2
between two adjacent prime numbers. 11
8. For = > 0, what is the minimum wvalue of
x+2 "
X+ ?
2x
(a) 1
(b) 2 .
(e) 21
2
(d) Cannot be determined ’&
©
S
9. f e ﬂ = l@be.n what, are the
1-px |1+gx $Q
non-zero solutions @?
9
(a) illlM—,Epaeq 12.
p q
® +—Jp-a,p%q
Pa
(e % -wap—q ,P#q
dy =34 Ep-q_,Ep:fq
P
DFGT-T-HTM (5-A)

In a hostel the rent per room is increased by
20%. If number of rooms in the hostel is also
inereased by 20% and the hostel is always full,
then what is the percentage change in the
total collection at the cash counter ?

(a) 30%
(b)y  40%
) 44%
(d} 48%

Radha and Hema are fieighbours and study in
the same school. Both of them use bicyeles to
go to the school. Radha's speed is 8 km/hr
whereas Hema's speed is 10 km/hr. Hema
takes 9 minutes less than Radha to reach the
school. How far is the school from the locality

of Radha and Hema ?

fa)  5km

(b} 55km

(e} Bkm

(d} 65 km |

Which of the following pair of numbers is the

solution of the equation 3**% +3*=10 ?

fa) 0,2
(b 0,-2
) 1,-1
dy 1,2
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13. 7% famn gan @ & log,; 2 = 0-3017
logy, 3= 04778 | (108)1° H feret 3ieh & ?
(a) 19
(b) 20
(c) 21
(d) 22
14. o= sryrsy SEmE w1 9ee 100 B | Afg s
o weh forelt gufl e & 36 sfus R, @@ W
deqE § § v g9 B
(a) 17 16.
(b) 29
(c) 43
(d) 9w 4 | 51§ T
N
N 1.
15. H&a,haﬂnmﬁmﬁqyf@iwmﬁﬁ
—.11 :;_5 a, b HH ¢ 1 WeT
a+——
b+ 11 @
C4+—
2
R 7
fa) 1 18.
(b) 2
(e) 1-33
(d) 233
DFGT-T-HTM (6-A)

T AW (03) gy & forn Prefefiae @ e
irfo

1,00,000 SEETT 91 et s § o9 9w

% WHTER-OF (1, 11 3f TI0) 3uey & | 39 I A
GUETL-YE i qea J1el @il o1 Sitea 59 TR R -

FHER-97 yIgH! BT ST
1 10%
I 30%
111 5%
gt 1 et I 8%
BT 11 31T 111 4%
gl 1 3R 101 2%
aeft =t (1, 11 ST 1%

Ao Ush GHENTH Tgd aTel 0 sl 5T =
27
{a)
(b)
{c}
(d)

20,000
25,000
30,000
35,000

FHHFY o GAERTE H Gg4 del AR 6
e =R 2

(a}
(b}
{c)
(d)

12,000
13,000
14,000
15,000

9 T EE R W 5 i IR §
w18 ft auERa 777 Ted & 2

(a) 62,000

(b) 64,000

(c) 66,000

{d) 68,000
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13. It is given that log;; 2 = 0-301 and|Consider the following for the next three (03)
log,, 3 = 0-477. How many digits are there in |items :

(108)10 2 . S
In a certain town of population size 1,00,000
i 3B three types of newspapers (I, II and III) are
available. The percentages of the people in the town
(b} 20 who read these papers are as follows :
Proportion of
() 21 MNeenarer readers
I 10%
d} 22 n 30%
I 5%
Both T and 11 8%
: B
14. The sum of three prime numbers is 100. If one i 1 I i
Both T and 111 2%
of them exceeds another by 36, then one of the All the three
numbers is (I, IT and-ITL) 1%
{a) 17 ;
16. What is the number of people who read only
2
b 29 one newspaper 7
(a) 20,000
(e) 43 (b}, 25,000
{ey 30,000
id} None of the above .&
Q (d) 35,000

S\
&“

15. If a, b and ¢ are positiveGn rs such that Whst_is the: aumber of peopte who:read 4t

1 16 least two newspapers ?
i o what is the mean of @)  12.000
P M S :
b+ (b) 13,000
i (¢) 14,000
a,bande? idy 15,000
la) 1 18. What is the number of people who do not read
W B any of these three newspapers ?
(a) 62,000
(@) 133 (b) 64,000
(e} 66,000
W S0 @ 68,000
DFGT-T-HTM (7-A)
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19.

20.

21.

22.

DFGT-T-HTM

773 % wHE § g T 3H TR ?
fa) 1
(b) 3
@ 17

idy 9

o wifsu o 7@ YHT F U SAHE Ui 8
% (n? + 48) UH 01 1 B | 98 WHR & n H
AT =R ?

(a) TUeh

(b) &

(c)

id) =N

x+2sl"§
x— 242

P
NI ’

HH R ?

& :‘;1—2‘@ =]
x—2J3

fa) 1
by 2

() /3
d 2

&
&
R\
S

9 HEET x, v 30 2 THUFN E TR x, 2 F 30%
2 o y, 2z 1 40% BA S x, y 1 p% B, A p
& HE =R 7

ia} 4B

(b) 55

fc) 65

(dy 75

23.

24,

25.

26.

(8-A)

U faum us gErd 9TH % AR AN TR
SR T TR 2 | U FaeR @@ R feame
3 fime & 2 | gft ot fog P o 1 HEE W
AT 99T (t + 30) HF0E W faue % 33ET Fw=m
S # | W (4 + x) IS W, faue fag P
dF FEater I2A1 B | x Tohees s 2 2

(a) 75 H®HUE

(b) 90 H®HUE

(¢) 1056 HHUZ

(d) 135 HHUS

2 Uit p 3 q (BFT > 1), 9 6 @meEm;

w2, % el § Fefafas wea w fa=ew

#ifsm

1. p 3l q§HFT 9T 9T B Hadl 2 |

9. p3ilt q 2FgTST BT B gl B |

3. p 3 q HH UH AN AN GEO 9T B
THANR 1

I B SSEH % od 2

(a), Haet 130T 2

(b) haer 2 31 3

(c) “hael 13T 3

(d) 1,213

uH wa § 100 FFEnEf &, G s a9
30 kg & | afz erefral @1 ofted 999 24 ke #
3 wieHl 1 32 kg B, O He H ergfEAl F
e fmet & 2

tal 25
(hy 26
) 27
(d) 28

frdl 21 awafas @ETes o SR b & o,
J{a—h}g+\/(h—a}?' Bl

{a) Eﬁ?ﬂﬂl\ﬁf

(by o e

(c) Wmﬁa:h

(d) AT AfG 37 heret 92 a > b
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19. What is the unit place digit in the expansion | 23.
of 7737
(a) 1
(b} 3
(e 7
idy 9
20. BSuppose m is a positive integer such that
(n? + 48) is a perfect square. What is the
number of such n ?
24,
fa) One
(b} Two
(e} Three
(d) Four
1.6
21. For S —— hat is th 1 f
x TR w is the wvalue o
x + 242 i x + 243 o
x-242 x-2J3 &
(a) 1 K\Q
Q)Q 25.
O] N
@ 3 @Q\Q
c.
$
(d)y 2
22. x, y and z are three-numbers such that x is
30% of z and v is 40% of z. If x i5 p% of v, then
hat is the val fp?
what i value of p 28,
(a) 45
(b] &5
(e} 65
(dy 75
DFGT-T-HTM (9-A)

A plane is going in circles around an airport.
The plane takes 3 minutes to complete one
round. The angle of elevation of the plane from
a point P on the ground at time t seconds is
equal to that at time (t + 30) seconds. At time
(t + x) seconds, the plane flies vertically above
the point P. What is x equal to ?

{a) 75 seconds

(b} 90 seconds

(e} 105 seconds

(d) 135 seconds

Consider the following statements in respect
of two integers p and g (both > 1) which are
relatively prime ;

1. Both p and g may be prime numbers.

2. Both p_.and g may
numbers.

3. One of p and q may be prime and the
other composite.

Which of the above statements are correct. ?
(a)y, Land 2 only

(B)./ 2 and 3 only

(e 1and3 only

id) 1,2and 3

be composite

In a class of 100 students, the average weight
is 30 kg. If the average weight of the girls is
24 kg and that of the boys is 32 kg, then what
is the number of girls in the class ?

(a) 25
(b 26
(e) 27
(d) 28

For any two real numbers a and b,
Ja-b2+ Jib—a)? is

{a) always zero
(b} never zero

{c) positiveonlyifazb
(d) positive ifand onlyifa=h
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a? 42
27. aﬁa:b=c:d=1:6%,?ﬁb2+d2
TR ?
1
(a]‘ E{E
1
®) =
1
(c) =
1
@
28, 053+0-53 Toas a= & 7
(a) 1068
(b) 1068
{e) 10868
(d) 10868
29. mﬁma”:-brsmﬂﬂﬁ%,aa\\@
(a) N IE gaqvl e & &Q
(b) N,2%8 = us e &
(0 N, 38THTH A A

(d) N,3 % A Uk G eI 8

30, TefafEs 0 @ R vs st g 2 7

(a) /59049 34,
231
(c)  0-45454545......
(d) 0-12112211122211112222.......
DFGT-T-HTM (10-A)

=hl HI

31,

32,

U 3% % o el ¥ | sremsem e W qu
w4 & U v yEs f Evw e e

g oo, Fefefiaa ameft § gafe 7o # .

WA | WFTIT | ST IO

Tfit (kmph) 9 8 7-5

g (i #) | 50 80 100
9 yiaE 6l gd T TR 7

(a) 817 kmph
(b)  8-00 kmph
(e}  7-80 kmph
(d)} 777 kmph

afz 2 .. D NN 3 3 AafiRe
b+e c+4d a+b
4§ $H9 F97 GEr g 2

(a) TR BE 1T —1FH U=t 2 |
(b) uﬁaﬁa%ml%mél

(&) - uers fm %mﬂ#m%l

@ e R e -;;%Elrﬁﬂ't%r

T 3521 =1 8 F fawitsm fome i 2 | e
w22

{a) 1

(by 3

c) 7

d) 9

T IUST eI H T % TH W IE X B
3 UHT  forad 3 X @ god 8 ?

fa) 3

) 4

(c) B

d) 6
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27. If a:b=e:d=1:86, then what is the value of|31. A race has three parts. The speed and time
2 2

a® +E* ., required to complete the individual parts for a
b2 +d2 runner is displayed on the following chart :
@ g : PartI | PartIT | Part 11
600 Speed (kmph) 9 B 75
(b) 1 Time (minutes) a0 80 100
a0
What is the average speed of this runner 7
(e) é {a) 817 kmph
(b}  8-00 kmph
(d) % (e}  7-80 kmph

(d) 777 kmph

28. What is 0-53 + 053 equal to ? i, B c

32, If = = , then which one of
- b+e e+a/™a%b

iaf - NN the following statements is correct ?

(b) 1068 (a) Each fraction is equal to 1 or -1,

() 1068 (b} ( Bach'fraction is equal to % or 1.

id) 1-068 1

{e) - Each fraction is equal to = or —1,

29. The inequality 3% > N” holds when (d) Each fraction is equal to % only.

(a) N is any natural Illlthl’S\\Q

{h) N is a natural numb(%.@reater than 2 33. The number 3921 is divided by 8. What is the

remainder ?
{c) Nisanaturaln r greater than 3

a) 1
(d) Nisa natur@.lmbar except 3 ) 3
e} 7T
30. Which one of the following is an irrational d 9
number ?
@ 59049 34. A prime number contains the. dllgit X at unit's
place. How many such digits of X are
i ?
(b) 231 possible
593 (a) 3
(e) 0-45454545...... (b) 4
(e} &
(d) 0-12112211122211112322.......
d) 6

DFGT-T-HTM (11-A)
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36.

36.

37.

38.

DFGT-T-HTM

4f2 vk T H 6% B F a9 6% WH W
= A, 1 fEkdal #6176 s wr 'R R |
qEq 1 59 ol F R ?

(a) 18
(by 36
(c) T42
(d) T50

U © HI Hers 12 gEel swEr 18 wfkensi &
o 14 &= oA |

16 #fgemd g9
Hehd 7 ?

26 T
by 24f2A
(e) 9fem
) s8fe

(al

Ife 3% =4¥ = 12* B, @l 2 ToFms U= 2 7

(a} xy

by =x=+v¥

xy
X+¥

el

N
oy
Q
N
$
A (4a + Th) (4e — 7d) = (da %, Tb) (4c + 7d) B,
a1 fr=fafaa ¥ 9 R s odl 2 2

(d) 4x+3y

ta)

o|m
=T e

{(b)

-

]

[
Nl ole

=&

(d)

=P

39. 2 fhage  + ax + ) B (x - 1)

41.

42,

(12—-A)

FUEl (x + 1) ¥ fgwfsm =0 w e e
AR | a3 b UH HAM T E 2

(a) 430

(b} 03N 3

(e) 330

(d) 03 =g o quis

foreft 1 =1 U F § IR &I 6 HE @ E,
wafer s 3¢t 1 10 °E H @ w8 |
Ifz a4 g1 Fee wW w91 39 HE B @@
FA | e guy @ 2

(a) 3=

(b) 32 15 e
(¢) 3w 30
(), 3.E¢ 45 fire

2+J2+,,’2+m T UH R ?

fa) 1
(b) 2
(e) 3
d)y 4

T i H, 529 el el 7 wE a5y eiR
429 Mo | %l g0 | 3G 17% ST ol § B
ge, o aFi fowgl 4 fras ufoem olenef o
7T ?

ta) 77

(b) 58

(c) 48

(d) 23
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35. If an article is sold at a gain of 6% instead of a | 39,
loss of 6%, the seller gets ¥ 6 more. What is
the cost price of the article ?
(a) 18
(b} 36
{c) T 42
(d} =50
36. A field can be reaped by 12 men or 18 women 40
in 14 days. In how many days can 8 men and |~
16 women reap it 7
fa)] 26 days
(b) 24 days
{c} 9days
(d) 8days
37. If 3* =4 = 19% then z is equal to
la) =x=v
(b) x4y 41.
w O
il
- X+y S\\
S
(dy  4x + 3y Q\Q(b.
38. If (4a + Th) (4e - 3@: (da —Tb) (4¢ + 7d), then
which one of the following is correct ?
' 42.
a .
{a} — T
b d
- a_ ¢
(h)y ===
d b
a d
o] ===
b ¢
da ¢
(d) —===
b d
DFGT-T-HTM (13-A)

Given that the polynomial (x? + ax + b) leaves
the same remainder when divided by (x — 1) or
ix+1). What are the wvalues of a and b
respectively ?

{a) 4and0Q
{b) Oand3
el Sand0
(d)

0 and any integer

Tushar takes 6 hours to complete a piece of

work, while Amar completes the same work in
10 hours. If both of them work together, then
what is the time reguired to complete the

work ?

ta) 3 hours

th) 3 hours 15 minutes
(e} 3 hours 30 minutes
id). 8 hours 45 minutes

What is the value of 2 + J2+ Ja:r.'.l' 7

ta) 1
by 2
e 3
dy 4

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If
17% failed in both the subjects, then what
percent passed in both the subjects ?

(a} 77
(b) &8
(e) 48
d) 23
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43. us =Afw fmdt are & # geg g9, = 3,90,000
# gAuiy @iz ™ W 3EE 9o, 9" "
st = St & afer s o1 | 3w BRw B
o fe fadt aaofe s 38 = fiedt 2,
Wels 92 1 IWeh! dF T gAu e =i
AR faet a9ufy @ 1 fedt 2, acies &8 =0
Fgdt g ufy fiert aifee | uet @ e
Toramr =7 2
(@) T 14,000
(b) ¥ 12,000 i
(e} ¥ 10,000
(d) ¥ 9,000

44. 40% T FHafly =9 1 [T W wh T
gaufyt FHaFn e 9o 9 9 fa @ s
7 et 2
(a) 3
(b) 4
(c) 5 s\\g& 48._
(d) 6 N

S

45, UH = A T 17,200 'Qmﬁaﬁl?ﬁqwﬁﬁ
ﬁmﬁaﬂﬂ,ﬁse@ 317 0g anfd= aram
=rat il W P e goast gt
o, 39 ul f= i g owonm =e
g | 9% = vLREY i 78 gwufa e
%? 49,
{a) ¥ 3,200
(b) ¥ 4,000
ic) 4,800
(d) ¥ 5,000

DFGT-T-HTM (14-A)

A3 o a8
46. x—v)" +{y—2)" +{z —x) S %?

F(X-—y)y—zl{z—x)

fa) 1
iby 0O
1
( =
c) 3
id) 3

TR a* = p=cf M bl =ack @ L + 1
foreer gt 2 0

@ X

(b} ——

tel —

=Lk

(d) -

el -

‘ﬂﬁplﬁ?q,ﬁ‘vﬂmxz— 15x+r:D%H§F=§
AR p-—q=1% A rF AT TR 7

{a) B5b
(b} 56
(e} 6O
(d} 64

SrH =R 2—7x+12>ﬂ%m,mﬁ

H WH-H1 U @l 8 7

{a) 3<x<4

(b) FEFA —o<x<3

(¢) SHadd<x<e

(d) —cccx<3HAYAT 4<x<
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43, A man who recently died left a sum of

F 3,90,000 to be divided among his wife, five
sons and four daughters. He directed that
each son should receive 3 times as much as
each daughter and that each
daughter should receive twice as much as

receives
their mother receives. What was the wife's
share ?

{a) ¥ 14,000

(b) ¥ 12,000

{c) ¥ 10,000

(d) ¥ 9,000

44. What is the least number of complete years
in which a sum of money put out at 40%
annual compound interest will be more than
trebled ?
fa) 3
(b) 4

$
© 5 g\\
S
d 8 Qo
N
N

45. A person divided a of T 17,200 into three
parts and invested at 5%, 6% and 9% per
annum simple intérest, At the end of two
years, he got the same interest on each part of
money. What is the money invested at 9% ?

(a) ¥ 3,200
ib) ¥ 4,000
(el T 4,800
td) ¥ 5,000
DFGT-T-HTM

47.

49,

(15-A)

x-yP +(y-2° +(z-x)?

What i :

is Y Sy ey op equal
to ?
a) 1
(b} 0

1
(el E
d) 3
If a* = b¥ = ¢ and b? = ac, then what is
= + 2 equal to ?
x oz
{ﬁ} .l

¥
b - L

¢

(h 2

¥
T S

¥
If p and q are the roots of the equation

x*—15x + r = 0 and p — q = 1, then what is the
value of r 7

(al 55
(b) &6
le) 60
(d) 64

For the inequation x — 7x + 12 > 0, which one
of the following is correct 7

fa) 3<x<4
(b} —=<x<3only
(e} 4 < x <= only

dl}] —mex<dordcx<e
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50. =AW 520 —230 ] UHEE B
{a) 3
(hy 7
(e} 17
(d) Iwfe # @+ T
51. Elﬁ tan x = l,ﬂ-:xn::ﬂﬂ-“%_, Al 2 sin x cos x 1
A F R ?
1
(a) E
(by 1
55.
V3
flc} ?
(d 3
52. sin 46° cos 44° + cos 467 sin 44° =K1 HIH #47 % 4
ta) sin 2° s\\QQ 56.
(b} 0 @
&
(c) 1 %Q
$
(dy 2
53. HH @ET 0 < 6 < 90° 8, 9 9w 6 % fu,
4 sin? 0 + 1 Frad sErSen sUET 2 2
(a) 2
(b) 4sinb
) 4ecos0
(d) 4dtan®
DFGT-T-HTM (16-A)

54, U HAYSHS ABCDEF W fa=m #ifsu | B 3in

C WG o fém d | A ¥, B foua ot %
it =1 3FEA FI7 300 B, AR C e T S
3 =1 IHA B 45° F | B 3R C W fEE

TTEl o el w1 S R 7
| (@) 1:.438

(b) 1:3

ey 1:2

d 1:243

tan 1° tan 2° taf’ 3%, tan BO° =1 HH ERH% ?

fa) O
th)® 1

&) W
(=

2 ot nferE , 9o el 39 8 gfau
3 fose & | uselt nelt ° gfe @ s o R
ST {1 Ueh Afth qEdl Tefl # S 9 Ea 8 @
saeh gl @i 2 | feEt o W ow g e
150° g2 & 3 15 e 7% 20 km/hr 1 7l
H Tdal 8 | I6S 41g 98 60° "Rl 30T gEar @
3 20 fiFE % 30 km/hr 1 TG B =rEr 8
et § 9" war ® | gFl nfeEt % dre gl
foperft 2 2

ia] T5km
(b)  10-5 km
{e) 125 km
{d) 15 km
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50. The expression 52" - 29" hag a factor
(a) a
by 7
(e} 17
id} None of the above
51, If tanx =1, 0 <= x = 90°, then what is the
value of 2 sin x cos x 7
1
(&) =
2
(b} 1
le) ﬁ
2
(d) 3
52. What is the value of
sin 46° cos 44° + cos 46° gin 44° 7
(a) sin 2°
s@®
by O %
>
{ 1
e Q\Q(b.
dy 2
>
53. Suppose 0 < G-< 90° “then for every 8,
4sin®0+1 is greater than or equal to
fa) 2
by 4sinB
ic) 4 cos B
idl 4tand
DFGT-T-HTM

bd.

b5,

56.

(17 -A)

Consider a regular hexagon ABCDEF. Two
towers are situated at B and C. The angle of
elevation from A to the top of the tower at B is
30%, and the angle of elevation to the top of the
tower at C is 45°. What is the ratio of the
height of towers at B and O 7

(a) 1:43
by 1:3
(e) 172
(@ 1:243

What is the valueof

tan 1° tan 2° ftan'324......... tan 89° 7
{a) O
(h) -1
e, 2
(dl e

There are two parallel streets each directed
North to South. A person in the first street
travelling from South to North wishes to take
the second street which is on his right side. At
some place, he makes a 150° turn to the right
and he travels for 15 minutes at the speed of
20 km/hr. After that he takes a left turn of 60°
and travels for 20 minutes at the speed of
30 kmv/hr in order to meet the second street.
What is the distance between the two streets ?

(a) T5km
(b} 105 km
(e} 125 km
(d) 15km

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

57. A2 3tan 0 =cot BTE 0 <b < %%,?hamrnﬂ

59. sin® 6 + cos® 0 + 3 sin? 0 cosZ 8 — 1 T TF 4T
% ? 62,
(a) O
by 1
() 2
&
(d) 4 Q
S
60. amiﬁaaﬂwaﬂu,ﬁ.\@'gnﬁ%am,
Frferfiam 7 e aeg@@
1 SeC o= 1f4
2 tan = 20
3. cosecy=1/2
4, cosd=2
e # # Tohae faa gwa 7T € 2
(a) T -]
(h) B
el GiE|
d) =N
DFGT-T-HTM (18-A)

EoIR

ia) -g
(b) E—
(c) g
(d) %

sinZ 25° + sin? 65° %1 A9 F91 & ?

(a) 0
thi 1
(c) 2
d 4

61.

frefafigs orffea arema seq @ =R
i

x f
0-10 8
10— 20 12
20— 30 10
30 — 40 p
40 — 50 9

gfe 39t 29 1 AT 25-2 B, d1 p 1 OAH F4
B

(a) 9

(hy 10

) 11

d) 12

Frferfiaa arema se7 w fa=m ik .
X r
8 6
5 4
G ]
10 8
9 9
4 6
7 4

54 w2 i Hifeas #4918 7

tal &

by 7

e 8

d 9
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57. If 3tanB=cot B where 0<0< -;E, then what 61.
is the value of 8 7
T
(al E
h L]
(b} "
m
{el) —
“ 3
m
(d) 5
58. What is the value of sin® 25° + sin? 65° 7
fa) O
iby 1
(e 2
id) 4
59. What is the value of
sin® 0 + cos®0 + 3 sin® D cos? 017 62.
ta} 0
by 1
ey 2
(d 4 \\Q®
>
60. Consider the following @al numbers.a, B, v
and & ; &Q
3
il sec o= 1/4
2. tan f = 20
3. cosec y = 1/2
4, cos =2
How many of the above statements are
not possible ?
{a) One
ib) 'Two
(el Three
(d) Four
DFGT-T-HTM (19-A)

Consider the following grouped frequency
distribution ;

X f
0-10 8
10 -20 12
20 - 30 10
30— 40 p
40 - 50

If the mean of the above data is 252, then
what is the value of p ?

(a] 9

(b) 10
(e} 11
(d) 12

Consider the following frequency distribution :

X f
8 6
5 +
6 B
10 8
9 9

6
i 4

What is the median for the distribution ?

(al 6
by 7
e} 8
d) 9
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63.

65.

66.

DFGT-T-HTM

50 SHHTTA U iRl T ofteE x B | 9 o
=W v quiteni st ot snfie @t forn wmo, @ A
FHtEa (mred) &= B 2

(a) x+1

(h) x+2
c) x+4

(d)  x+ (x/64)

21 I gt v wemsi w fFEm Fifw S

% I W A wee 2 T ft, S @ o
]

wdl £ | 3 weH i g1 R 1 g
aftaa #= 2 7

(a) 33
(b 44
(c) 568
(d) 66

79 % amd feun § foafafaa & 9 s
wfefea g & 7
1. =Y IHE (SN =)

2.  gAnNE (TS-=rEaE)
3. fesfm s (fedmm) Q{Q

(d) 1,213

frafofigs 4 & +9-dl s fafg 3 w=wha G
o siewe, MUfiE siwe 777 A E 2

(a) wege ST HETE gl

(b) 3T9CAE] SARFT HEATTRR gRT

(¢) T 3 wrem @ wel 8 gl g
(d) W SHY-yEg o

67.

68,

(20-A)

s =tk @ WIS =99 T 6,000 & | fafim wgl

UL 19 T wed e 2
= #1 72 e (= &)
1. @ 2,000
2. I 660
3. 3499 3 faRran 1,200
4. foam 480
5. fafag 1,660

ﬂﬁ?@ﬁfﬁﬁ].ﬁcmﬁﬁ%ﬁ
sfawam W i@ #-fEfm fem s,
foren ofiw fofaw @ wafun wiv smmg & g+
el = AT shHw e g 2

a) 1:25em 3T 5 em
(b). NI 2ent" 3T 415 cm
{e) 142 em 3T 35 em

{d) 415cm AT 6 em

aﬁnﬁﬁ“ﬁﬁﬁmﬁ&l’“ﬁﬂmﬁlnﬁaﬂ(%ﬂ
Yo7l T e m 2, @ Tft o Vel = Aren =
B7?

ta)  2m-— .
(by 2Zm+ L
e) m-— —

2
@ ms+ 2
n
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63. The average of 50 consecutive natural|67.
numbers is x, What will be the new average
when the next four natural numbers are also
included ?
ta) x+1
(b} =x+2
(el =x+4
(d)  x+(x/54)

64. Consider two-digit numbers which remain the
same when the digits interchange their
positions, What is the average of such
two-digit numbers ?

(a) 33
(b) 44
(e} B5
(d) 66

65. Diagrammatic representation of data includes

which of the following ?

1. Bar diagram

2: Pie-diagram

3. Pictogram §%§

Select the correct answer the code given
below : \Q 6e.
(a) 1and 2only QQQ

(b) 2 and 3 only

fe)  1land3only

id} 1,2and3

66. The data collected from which one of the

following methods is net a primary data ?
(a} By direct personal interviews
(b) By indirect personal interviews
{c) By schedules sent through enumerators
id) From published thesis
DFGT-T-HTM e

The monthly expenditure of a person is
2 6,000, The distribution of expenditure on
various items is as follows :

Item of expenditure Amount {in 7)

1. Food 2,000
2. Clothing G660
3. Fuel and rent 1,200
4, Education 480
5. Miscellaneous . 1,660

If the above data is represented by a
percentage bar diagram of height 15 ¢m, then
what are the lengths of the two segments of
the bar diagram corresponding to education

and miscellaneous respectively ?

(a) 1-235cmand 5 cm
(b} “.1-2%em and 4-15 em
(g} /12emand 35 em
(d) 415 cm and 6 em

If the mean of m observations out of
n observations is n and the mean of remaining
chservations is m, then what is the mean of all
n observations ?

2

f) B2
n

2

(b) 2m+ —
mn
2

(el m—m—
. n
2

(d) m+m—
n
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69. F=fsifiga # & =F@ o 7w @ &9 F
gifew 2 7
(a) wTfET=R ~ e feafa
(b) HIER ~ et el
(¢) TUELEES - SHREE
(d) wEeTH ~- e
70, fr=fafan g v owma = & sReEwar @
3 IWF AnERdT Fgds d wafem &
frafafiga @ @ =H= & g9 wd w0 @
gufee 77 2 7
(a) YW I ER T@ - X4
(b) WEYW W Wi A - T AR
wifeat
(c) wEYW < Nl 49 - sHEwa 9 %
i Ik (FH
e )
(d) WEYST H &R - HE(
%s
NG
N
71. @mﬁ,mﬁ@%ﬁ?ﬁﬂwil
gfe ayrm & o S dien w309 3R
10% =@ & =i, a1 .38 uiEn fean ==
HT 2 '
40
{a] ‘?%
(b)  20%
(e) 25%
d) 27%
DFGT-T-HTM

T2,

73.

T4.

5.

(22-A)

oz foreft foge 1 welish o 1 sy e R
A, 9 IEF EEed ¥ Feed wfavm wd @
St 7

la) T5%
{b) 50%
(c) 25%
(d) <Tg Uitaeq T8

U MR el 1 HAFGA 700% &g &3
ST R | SR U &F%a § ufavme 9t
foradt 2 2

(a)  300%

(b)  400%

(e) 450%

(d) 500%

g 10 e BT a9 wH gH A q wEERR
el sl FFEEai 12 em 3 16 em B, @ A
31 wffaret & = i gt fead 2 2

(al Tbem JAYET T em

(b}» 2cm HAYET 14 em
(e} 3 cm JYFT 21 em
(d) 4cm 3JYET 28 cm

‘2’ Yol 9T U 1 % of @@ el R e
T, & e =TT A % SE 5 TsR @i
m E S 3w g s w5 oed §, sk g
Tl 590 & | S ST Bl W HafIss Sk
fepeT 2 2

2 1
(a) a“(m+ 2)

1

b 2ip_ =
(by a“(n 2)
X ot

{cl a{2 ]

(d) aﬂl{l;- +1)
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69. Which one of the following pairs is correctly | 72,
matched ?
tal Median — Graphical location
b)) Mean —  Graphical location
(e} Geometric mean — Ogive
(d) Mode - Ogive
73.
70. The following pairs relate to frequency
distribution of a discrete variable and its
frequency polygon. Which one of the following
pairs 15 not correctly matched ?
{a) Baseline ofthe — X-axis
polygon
74.
ib} Ordinates of the — Class frequencies
vertices of the
polygon
(e}  Abscissa of the — Class marks of the
vertices of the frequency
polygon distribution
(d) Area of the - Tm:a]s}.l ency
polygon of stribution
@ 5.
\Q
71. In a rectangle, la@ iz ‘thres times its
breadth. If the length and the breadth of the
rectangle are increased. by 30% and 10%
respectively, then its perimeter increases hy
40
tal —
'
(hl  20%
(c} 25%
dy 27T%
DFGT-T-HTM (23-A)

What is the percentage decrease in the area of
a triangle if its each side is halved ?

{a) T5%
(b) 50%
(e  25%
id) No change

The volume of a spherical balloon is increased
by TOO%., What is the percentage increase in
its surface area ?

ta)  300%
(b)  400%
{c) 450%
d)y  500%

If the lengths of tworparallel chords in a circle

of radius 10 emeare 12 em and 16 em, then
what is (the distance between these two
chords?

(a) \1emor 7cm

() 2 em or 14 ¢m

fe) Semor 21 em

{d) 4 emor 28 em

Considering two opposite vertices of a square
of sid-?, ‘a’ as centres, two circular arcs are
drawn within the square joining the other two
vertices, thus forming twe sectors. What is the
common area in these two sectors ?

1
(@) a%(n+ =)
il

" 1
by afizr- =)
G

ic) 3213 -1}
2

az{E + 1)

d
td) 3
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786,

77,

78.

79.

DFGT-T-HTM

‘@ ST 916l U @ & HHE B FH THR FE
T & f6 U gH STy &A1 § | e 6
U o H oears et @ 2

a(42-1)
a(y3-1)

a

-..-'E+2

(a)

(b}

(e)

(d}

eo |

@ swurE o dEd s gwev fByw A
ervargal gufdt & | 38 @ it di swErE gl
gEedl % fhad g= 949 B g% 8 7

(a) T TH '

(b) e Bl

(¢) “had dF

(d) aa: 3

u @ fog # 3 AW 1 g9 @i e d
B2 99 HI 9T 44 em B 3 T2

B¢ g9 Hl TRy H g 2 | @ TN T F
9 F1 &a%a T & ?

(a) 154 cm®
(b)
(c) 462 ecm?

(d) 616 em? %

308 cm? S

TS 6 ft x 12 ft JTHE & AIATHN AT HidE o
6 39 =Sl e e avEhl i 9 8 | R A
T &1 H9T 9 1 g% A B 7

(a) 9@ Fe

(b) 1591 e
(¢) 17a1 F2
(d) 18 & Fe

80. U w1 By w1 uftam sEh wER wid g

81,

(24-A)

® kTR | AR I g W w0 & wie
ST 4:58, A kI AH R 9

a) 2
(b) 3
e} 4

di 5

UH 12 m T a7 % & Zhe feu u E, ¢ A
U HI TF I+ €9 H A5 T # ofi gEl wl
TH T ¥ A, IO AW UNEg A BU A
ST ® | g ol e w7

12
n+4

{a)

(b}

()

(d)

n+ 242

U BYE H R 1.1 4% ua H # | af
faga 1 oo suht wam ad ya A ko
BoA kAR FR?

fal 1+

by 1-

Sl &l

(eh 2+

AP

(d) 2
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76,

77.

8.

79,

DFGT-T-HTM

The corners of a square of side ‘a’ are cut away
so as to form a regular octagon. What is the
side of the octagon ?

80.

{a)

a(+2-1)

The perimeter of a right-angled triangle is
k times the shortest side. If the ratio of the
other side to hypotenuse is 4 : 5, then what is
the value of k 7

b a(J3-1)

Three consecutive integers form the lengths of
a right-angled triangle. How many sets of such
three consecutive integers is/are possible ?

ia)  Only one
(b}  Only two
ic)  Only three

id) Infinitely many

Two circles are drawn with the same centre.
The circumference of the smaller cirele is
44 em and that of the bigger, ci is double

the smaller one. What is \area between

Sk
{a) 154 square cm Q\Q(b.
(b) 308 square @

(e
(d)

these two circles ?

462 square cm
616 square cm

A rectangular red carpet of size 6 ft < 12 fi has
a dark red border 6 inches wide. What is the
area of the dark red border ?

(a)
(b}
kel
id)

9 square feet
15 square feet
17 square feet

18 square feet

81.

82,

(25-A)

{a) 2
(b) 3
e}y 4
(d) 5

A 12 m long wire is cut into two pieces, one of
which is bent into a cirele and the other into a
square enclosing the circle. What is the radius
of the circle 7

{a) 23
™44
NN
T+4

3
(c) =z
id) 6

T+242

The angles of a triangle are in the ratio
1:1: 4 If the perimeter of the triangle is
k times its largest side, then what is the value
of k ?

2
a) 1+ —

V3

2
() 1=——

J3

2
el 2+ ——

N
d)y 2
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. Fefafes s@ w

DEGT-T-HTM

83. UH HEHT GYF N FO 10em B 3 I@E

8% 24 cm® B | AR SEh B g w s
3t 5 yon g W T S @, A AW
ol fepen &1 S 2 7

V245 em

255 cm
265 em
V275 em

(al
{h)
(e)

(d)

8 em T a8 v 99 #, AB 3ft AC @ SfiaTd
= THE # 76 AB = AC = 12 cm & | ¥f197 BC
1 e fradt 2 2

2-u"g cm

3.6 em

(a)
(bl
() 8+7 em

(d} 647 em

&
&Z’%
i

1. Eﬁwﬁﬁ@ﬂ@mﬂﬁﬂﬁm%l

2. g ot seh wuian =g U amEE w
2 |

39 # | FH-EE FIH E AE 2
(a) hael 1

(b) Haw 2

137 2 g

(d) Fd 1,782

(e)

86.

87.

88.

(26—A)

T Mg U S dean % gER @Yl g @
At s q AN W 25 m | R | IR 7w
AR T 08 m A F AR wF A R, @
AT aell SER § 144 m 3R AY= g a
2 | = it T e R o

(a} 62m

(b} 65m
(c) 6:8m

d 7T5Hm

<l §UF 99 TH-gEL I 6 TR dfieos i 8
5 o & "o 99 g 99 % FE W A
T 2 | afg gHf gel it wmdfss sfer di
T 10 /8 em #, A1 I F1 == R 2 2

fah, 10cm

(b A5 em

fe) - 20cem

(d) $ﬂcm

freferfga HeA w femm FHifa

1. oW aEE fagel & e @i o
HEA aTel gl 1 e I #

2. Tt 99 % =g @ve (Fme) § w99 9
I = FH0 BT R

I H H FA-AE HY TE AR 7

(a) haA 1

(b) e 2

1371 2 g

I, T2

i(c)

(d)
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83. The hypotenuse of a right-angled triangle is |86,
10 em and its area is 24 em?. If the shorter
side is halved and the longer side is doubled,
the new hypotenuse becomes
(a) /245 cm
(b} V255 em
(e Y265 em
(d) 275 cm

87.

84. In a circle of radius 8 cm, AB and AC are two
chords such that AB = AC = 12 em. What is
the length of chord BC ?

(a) 246 cm
(b) 346 em
ic) 37 em
(d 647 em QQQ
N
@ 88.
S
85. Consider the fnﬂuwin;ﬁ@ement& :
1. An isosceles trapezium is always cyclic,
2. Any cyelic parallelogram is a rectangle.
Which of the above statements isfare correct ?
ia)  1only
ib) 2 only
{c) Both1land?2
(d) Neither 1 nor 2
DFGT-T-HTM (27 -A)

A ladder is resting against a vertical wall and
its bottom is 2-5 m away from the wall. If it
slips 0-8 m down the wall, then its bottom will
move away from the wall by 14 m. What is

the length of the ladder ?
(a) 62m
(b} 65m
ic) BB8m
idy 7-65m

Two equal circles intersect such that each
passes through the centre of the other. If the
length of the commion chord of the circles is
1043 cm, then-what is the diameter of the

circle ?

fa) 10cm
(b} -~ 15.cm
{e), 20 cm
{d) 30cm

Consider the following statements :

1. The number of circles that can be drawn
through three non-collinear points is
infinity.

2. Angle formed in minor segment of a
circle is acute,

Which of the above statements is/are correct ?

{a) 1only

(b} 2 only

(e} Both1and?2
(d) Neither 1 nor 2

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

go. el frgw ABC % wed #H, FrafefEd | sy sy avet dm (03) wwivil & fore Pefefas w

srafieet w faEr $Hifs .
1. AC - AB < BC
2. BC-AC<AB

3. AB-BC<AC

Iudeh ff 8§ HH-8 8§ 2
(a) had 1 3R 2
(b) ad 2 3N 3
(e) “hacl 13103

(d 1,233

90, Fr=iferfiaa wwei w famm Hifsw .

foram &Hifse

s uF el M F Fwla R | 9 s T
ciagelia A # S 36 W Sl we e
AT R | WO % Il U eE-geE vg 2 | IR
Fargai aUet 8 I UF W =AW Sed % o %
R R

91. A % IEAA W TP & G d T FIH
29?
(a) 643 :1
by 7:2
(€ 3843 :1
(d 58 :1

92. HH ¥ SEAT H T F AW § 791 I
2Y
ta) 4:3
(b) 21:16

S
1. fdit forgw 1 9t St arfemT (€ 14:11

(dfifem) & dmrer BeGE Bt 2 |

@ 45:32
\Q‘G
2. ot o , AfG BCALHE fog D |95, foiferfian et w foam Hifvo
&, 1 AB + BC + CA 5 2AD BT £ | 1. el F EE e, WE F A T
g  § BRI e 2R R e o G
2. U9 W YA EARE, deH % b T
(a) e 1 Ee o U B |
ey 9 T & HH-AA B a2
e ? (a) “Hae 1
(¢) 13 23l (b) e 2
(¢) 13 2l
(d) :I?ﬁl,:rﬁﬂ (d) ,-_rz.ﬂ Lqiﬂ'z
DFGT-T-HTM (28-A)
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89. Consider the following inequalities in respect
of any triangle ABC :
1. AC - AB < BC
2. BC -AC < AB
3 AB-BC < AC
Which of the above are correct ? 91.
(a) 1and2only
(b} 2and 3 only
(e} 1and3only
(d) 1,2and3
92,
90. Consider the following statements : ®
O
1.  The perimeter of a tri @E is greater
than the sum of its t\@‘medums 93,
2. In any tnangle@ if D-is any point on
BC, then AB + BC + CA > 2AD.
Which of the above Statemerts is/are correct ?
ia) 1only
(b) 2 only
(c) Bothland?2
(d) Neither 1 nor 2
DFGT-T-HTM (29-A)

Consider the following for the next three (03)
items :

A cube is inscribed in a sphere. A right

circular cylinder is within the cube touching all the
vertical faces. A right circular cone is inside the
cylinder. Their heights are same and the diameter of
the cone is equal to that of the cylinder.

What is the ratio of the volume of the sphere
to that of the cone ?

(@) 643 :1
by T2

(€} 3843 :1
d 543 :1

What is the ratio of the volume of the cube to
that of the eylinder ?

(a)( 4p3

(b)™S 21: 16
(e} 14:11
(d) 45:32

Consider the following statements :

T The surface area of the sphere is
V6 times the curved surface area of the

cone,

2.  The surface area of the cube is equal to
the curved surface area of the cylinder.

Which of the above statements isfare correct ?

(a) 1only
(b) 2 only
(¢} Both1and?2

{d) Neither 1 nor 2
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AT 2T =T 719 (03) TN o T Faferias w
ﬁwﬁﬁm:

ABCD UF wg¥w 2 f&d AB = 9 cm,
BC = 40 em, CD = 28 em, DA = 15 cm 31 S0 ABC
T THHI B |

94, B9 ADC % &5%a foha1 & 2
(a) 126 em?
(b) 124 cm?
() 122 em?
(d) 120 em?
95. =ad¥ ABCD % &5%a fka1 8 2
(a) 300 cm?
(b) 306 cm®
() 312 cm?
(d) 316 em?
96. TS ABC % wimmg 3fit fiys ADC % wfmmg &
== fome 3t 2 9
{a) 4cm %@
(b) Hem ®
(e} Bem Q@
(d) Tem 'Q\

AT AT AT B (nz)ﬁvﬁ'&iﬁmﬁﬂﬁrﬁmm
f&'an':ﬁ’rﬁ'q:

wh wHeTE By ABC, 203 em # = @@
T g9 % A 7 |

oyt <t g 1 T =R 7
(a) 30cm
(b} 40cm
(e} BH0em
(d) 60cm

a7,

DFGT-T-HTM

(30 -

98. fiust ABC w1 F, M A G d gt m 2
d feroreh a2 2

(al 15cm
(b} 20cm
(el 204/3 em
(d) 30V3 ecm

T ST ATer 71 (02) Sy & oo Fafaiaa wm
fo=m $ifo .

uh SEFIE GU YehaE # o, Hien
3t S= & TEE 22.cm 2 3N I ol i
wFETS 14em B |

99. wEFIOG GG SCHEH B TG ETRA
a8 7

(a) 288 cm?

(b) 216 em®

(¢) 144 cm?

(d) F9ETa g9 % Frw Faiie a8 o
Hehal

100. 7t wEsifres A Sohese ol famied
(faeam) % =i (Fq@) &1 9rrEe S, HI IHH

A VR, a1 (S — 3V) Tohaes SUst # 7
(a) 572 cm®
(h) 728 em”

1144 em?

I § ® WIS Al

tel

(d}

A)
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Consider the following for the next three (03)
items :

ABCD is a quadrilateral with AB=9 cm,
BC = 40 cm, CD = 28 cm, DA = 15 ¢m and angle
ABC is a right-angle,

94. What is the area of triangle ADC ?

(a) 126 cm?
(b) 124 em?
(e) 122 em?
(d) 120 cm?
95. What is the area of quadrilateral ABCD ?
(a}) 300 cm?
(b) 306 cm?
(e) 312 cm?
(d) 316 cm?

96. What is the difference between perimeter of
triangle ABC and perimeter of triangle ADC ?
fa) 4em
(h)  5cm §®
{e) 6Gcem %%%\

(dl Tem f@
N

Consider the fnlluwi@fur the next two (02)
items :

An equilateral triangle ABC is inseribed in a
circle of radius 203 em:

97. What is the length of the side of the triangle ?
fal  30cm
(b} 40 em
ie) S50em
id} 60em
DFGT-T-HTM 31—

The centroid of the triangle ABC is at a
distance d from the vertex A, What iz d equal
to?

(a)
(b}

15 cm

20 em

(c) 2043 cm

(d) 303 em

Consider the following for the next two (02)
items :

The sum of length, breadth and height of a
cuboid is 22 em and the length of its diagonal is
14 cm.

99. What is the surface area of the cuboid ?
(a). 288 ¢cm?
th} 216 cm?
(c) 144 em?
(d} Cannot be determined due to
insufficient data
100. If S is the sum of the cubes of the dimensions

of the cuboid and V is its volume, then what is
(5 - 3V) equal to ?

(a) 572 em?

(b) 728 ¢m?

(c) 1144 cm?

(d) None of the above

A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFGT-T-HTM Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100
. —— e
INSTRUCTIONS
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT

4.

9.
10.

THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC, IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET,

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet,
This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). Youwill seleet the response which you want to mark
on the Answer Sheet. In case vou feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided, See directions
in the Answer Sheet.

Al items carry equal marks. Q

Before you proceed to mark i ¢ Anawer Sheet the response to various items in the Test Booklet,
you have to fill in some p flars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.
After you have compl

g.llling im.all your responses on the Answer Sheet and the examination has
concluded, vou sh and ‘over to the Invigilator only the Answer Sheet. You are permitted to
take away with yoilhHe Test Booklet,

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
ORBJECTIVE TYPE QUESTION PAPERS.

{i) There are four altérnatives for the answer to every question. For each question for which a wrong answer

has been given by the candidate, one-third (0-33) of the marks assigned to that question will be
deducted as penalty.

{ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be eorrect and there will be same penalty as above to that question.

{iii) If a question is left blank, ie., no answer is given by the candidate, there will be no penalty for that
gquestion.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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